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The Ambiguous Case
of the Sine Law

Assignment: pgs. 183 - 184
2/3(Complete together), 4, 8
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The Amb
SOl TTONS=> 43 of 4R S N

Y jg%f&.T_\)'e:<:{-:~_le.=; Whe+ther cach description
¥¢ () of a-riangle rnvolves the SSA si+uation.
rés“o‘ﬁ” 3. (alculate “Fhe height of each triangle

O ¢ ] in question 2. Determine +he number
182 | of +r1'0ﬁ8\68 That are possible

_ &Zgro,one “or +wo). Jashfy your answers.
o
a) In AABC,<B=100° a=8cm, and b=10cm.
TR'S 1S a SSA situation. CMq-‘rcth Pair)

| @ We can skip ® Oince <B1's obtuse and

step 2 since - e » .
Q ere (S o angle.
AABC is obtuse. o " P B i e
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b) ITn ADEF?AD“-‘-%E‘”) €:QCm)Qﬁd £=8cm.

—

® This I's nat o SSA situation. (No Matching Rair)
% Stop Here.

¢)In AGHT ,<G=40% 1= 8cm, ond 9= Mcm.

@ This is a SSA syruation. (,!\J\cﬁchx'na Pair)

@ h=bsinA S Since <A s acute and
Lh=18InG h<g<1,¥here are
= 5sSin 40° i Possib\ﬁ er‘on&\es.
h=3.2 cm

d) ITn ATKL, <L=159% j= Tlem, and K=36cm.

® TRUs 'S not a SSA svuotion.(No Haﬁ*chmﬁ%ir)
¥ Stop Here
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€) In AMNO,<O=28" m=38.Mcm,and o=4.0cm.

@ Tris is a SSA S{+uq+1'oﬁ.(Ha+chm8 Rair)

@ h‘—“- Dsin A S Since <O1s acute and

Ly h= msinO h<o0<m , there are
h= 3.4 s'n 23° 2 possible ‘FH’QQ&\GS-
h=3%cm.

§) InA PQR,<Q=4S5" q=1.0cm,and r=0.5cm.
@ Thi's 1S a SSA 6{*‘%*uc1+1'oﬁ.(Ha+C‘mn8 Pair)

@ We can skip @ Since <Q 1's obtuse,
step 2 since and 0T There (s
APQR is obtuse. one "VT‘Q“’S\"E'



foundations11ch4lesson3Solutions.notebook October 29, 2015

4. Decide whether each description of a
"t—rx'oﬁcjte Involves the SSA Situation.
ITF i+-does, determine the Nnumber of
Triangles (7@:1”@3 one, or twe) thaot are
ossilble with the aiven measurements.
Draw +he triangle (s, and d‘uaﬁ‘{{-ﬁy Yyour
answer. '

Q) In AABC, <A=515 0=5m,and b=I4m.

© Trnis is a SSA situation. (Metching Pair)

# Since <a 15 acute. To determine +he
number of Triangles, vou need Yo
Calculate the Jf:ia.hﬂr;“’ LLS!'HS N=bsinA.

® h= bsinA ®Since <A isacute and
n=148InS1° a<h,there 'S no Jrn'cmg‘lek

h:: 10.9m -
:D-.'a%ram.t. R
INMm
5\°

A B
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b) Tn AABC, <C=30] a=bmm,and c=12mm.
This is a SSA Situation. (Hqﬁ*chmﬁ Pair)
@ Skip(since c>a) ® Since <C is acute and

C>Q -Hrche 'S one
+\’\Qﬁ%

' i 12 mm
Labpte g\
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c) ITn &ABC)/J B=MO’ a= 12cm,and b= l0cm.

® Th's isa SSA Svruathon. (Ha“irchirjq Pair)

@ h=bsinA @ Since <B I's acute
Ly h=a Sin B and h<b<a,there
h=12 SIn40° are Two podsible Tryangles.

h = TllCm

Disgrams

d) IF\AABC, <A=185", b=15m,and C=12m.

® This is ot a SSA situation (No M&lrching Rair)
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3. Ar\ obtuse ftrivanale has two Known
Side lenagths: Y4.0m and 4.2m. The
Ongle t+ha+ (s oppoesite The Shorter
Side measures 64.0°

a) Ca culate +he obtuse an 1<-: (s the

+rrangle, to fthe nearest +enth ofa
cj'e:gr'c
SIin® = singM° Lince the ongke
.26 4.0m (s obtugsel
Losin®= 4.2 Singy®
A6 Y. O=180-"10.7"
Sin©= 09437 Q=1093°
Q=sin' (043 7)
C="10."17°

b) ITs +here Only one possible answer?
xplam.

1+ <A (s 109-3% a=4.2m and b= “Om
+his is e:(:m\ pessible Tryar gle.
Since <A IS obtuse and Q>b}

October 29, 2015
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